
Prüfungsaufgaben Aufgabe 105b 
 

 

 
 

3. 

 

 

∡ APB = 180° - 60° - 35° = 85° 

 

∡ QBP = 110° - 35° = 75° 

 

∡ BPQ = 180° - 85° = 95° 

 

∡ BQP = 180° - 75° - 95° = 10° 
 

Sinussatz im Dreieck ABP: 
 

   AB             AP   
-------- = ---------- | * sin 35° 

sin 85°      sin 35° 
 

         AB * sin 35°       60 m* sin 35°  

AP = ---------------- = ----------------- = 34,55 m 
             sin 85°                sin 85°  



 
   AB            PB   

-------- = ---------- | * sin 60° 
sin 85°      sin 60° 

 
         AB * sin 60°       60 m* sin 60°  

PB = ---------------- = ----------------- = 52,16 m 

             sin 85°                sin 85°  
 

Sinussatz im Dreick BQP: 
 

   PB              PQ 
--------- = ---------- | * sin 75° 

 sin 10°      sin 75°  
 

           PB * sin 75°        52,16 m * sin 75°  
PQ = ----------------- = ----------------------- = 290,1 m 

               sin 10°                  sin 10°  


